Zadanie 1

Metody przetwarzania danych meteorologicznych

(Prég >=50%)

X | student z1 | z2 | 23 | z4 | 25 | z6 | z7 | wynik | proc
1 | MicDel 1 1 1 1 1 1 1 7 | 100.0
2 | MarSzn 1 0 1 0 1 1 1 5 71.4
3 | AliKan 1 1 1 1 1 1 1 7 | 100.0
4 | EwaWol 1 1 1 0 1 1 1 6 85.7
5 | KatSob 1 1 1 0 0 1 1 5 71.4
6 | PauPaw 1 1 1 0 1 1 1 6 85.7
7 | PawKlo 1 1 1 1 1 1 1 7 | 100.0
8 | NicKac 1 1 1 0 1 1 1 6 85.7
9 | WojSwi 1 1 1 0 1 1 1 6 85.7

10 | SarKar 1 1 1 0 1 1 1 6 85.7

11 | DomBob 1 1 1 0 1 1 1 6 85.7

12 | OliWro 1 1 1 0 1 1 1 6 85.7

13 | MatLuk 1 1 1 0 1 1 1 6 85.7

14 | IgoWaw 1 1 1 0 1 1 1 6 85.7

15 | EweZaw 1 1 1 0 1 1 1 6 85.7

16 | MonCha 1 1 1 0 1 1 1 6 85.7

17 | AdaSzc 1 1 1 0 1 1 1 6 85.7

18 | MagKoc 1 1 1 1 1 1 1 7 | 100.0

19 | PatBal 1 1 1 0 0 1 1 5 71.4

20 | AdrSob 1 1 1 1 1 1 1 7 | 100.0
21 | JacKon 1 1 1 1 1 1 1 7 | 100.0
22 | PatMat 1 1 1 0 1 1 1 6 85.7
23 | PioSta 1 1 1 1 0 1 0 5 71.4
24 | OlgBas 1 1 1 0 1 1 1 6 85.7
25 | PioJoz 1 1 1 1 0 1 1 6 85.7
26 | EwaCho 1 1 1 1 1 1 1 7 | 100.0
27 | WikMaz 1 1 1 1 0 1 1 6 85.7
28 | NinJed 1 1 1 0 1 1 1 6 85.7
29 | AgaPie 1 1 1 0 1 1 1 6 85.7
30 | KamHaj 1 1 1 0 1 1 1 6 85.7
31 | ZuzPal 1 1 1 0 1 1 1 6 85.7
32 | PatOpa 1 1 1 0 0 1 0 4 57.1
33 | MarAtr 1 1 1 0 0 1 1 5 71.4
34 | AgaWal 1 1 1 0 1 1 1 6 85.7
35 | AntJak 1 1 1 0 0 1 0 4 57.1
36 | AnnKro 1 1 1 0 1 1 1 6 85.7
37 | AleLeo 1 1 1 0 1 1 1 6 85.7
38 | Fillos 1 1 1 1 1 1 1 7 | 100.0
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